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And he went on one of them and touched Ny v

OVERVIEW

The mawn (which the X712 cites here) states a case where there were two roads, of
which one was Xnv, and two people traveled, each on one of these roads, and
afterwards they touched nm7v, and discusses the status of the mAAw. Our NBOIN
explains why the 71wn did not discuss the status of the people (whether they are
Xav or M7Y) instead of the status of the mnv.
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The reason the 771w mentions, ‘and he touched n1977w’, is because regarding the
person there is a different solution, for the 7"2 requires both of them to immerse

in a Mp» and be sprinkled with the nxvn *» to purify them from their xnw P90, The reason

for this stringency is -
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Lest it will result in a certain 8™, if for instance they will both touch the

same loaf of bread. The loaf will be certainly Xnv, for one of these two are certainly X2 -
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Therefore in order to prevent this %m0 "X71 from happening, the 7"°2 says to the
two of them, ‘go be 2 [and additionally since he is poon Rav there is no reason

not to be 9210] for the river is before you’; there is no need to perpetuate the =Y P50
which can turn into a 7xmW X7, However regarding the mi7v there is no option of 79°2v; if they
are Xnv they need to be burnt.

Moo offers an alternate explanation® why the mwn discusses the mAAv and not the people:
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And furthermore because the Xin of the mwn wanted that the case in the X9
(71 mwn, our mwn of 1772w '2) should be like the case of the [Rwsa ('x 73wn)], which

"'nm or purified items may refer to either 7170 or @*w7p (the meat of N1127p).
2 However there is no recourse for N7 which become Xnv; they need to be burnt.
® The A0 N9 amends this to read, X177 71 12720,
* See footnote # 14.
> The X" mn amends this to read, 717 @12 X9°0.
® The beginning of the m1wn there is: 17981 MY AW 071 TR 727,790 TR XL TR ,0°2°2w 1w, and then "1 717 as
'01n continues. The case is the same as in 77 7w (but with one person); however after he touched the first m177Y, they
were eaten, so we do not discuss their status for they no longer exist. The issue is regarding the second set of n177v.
" The w"wA amends this to 970, as it is written in the 7Iwn there.
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is: ‘he was sprinkled with the nxvn °», and immersed himself in a Tp»n and
became "97¥ (he is now MY even if he initially took the X»v road), then he went

in the second path and touched other m9/, these second MY are mﬁﬂ.'m,s the
mIwn continues -
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And if the first MY that he touched, still exist (they were not eaten), both the

first and second M17v are ‘hanging’;' they are poon pxnv -
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And if he did not immerse himself between the first and second touching the
first n1977w are M»n and the second M7 need to be burnt.'

SUMMARY
The mwn discusses the 177w instead of the person because the M77Y do not have
the option of 77920, or because the previous mwn was discussing the M.

THINKING IT OVER

Why is it that (in the first case) where MW7 17981 the N1"w are Mnv (even though
there is the possibility that the second road was xnu),"” and in the other two cases
the MNWKRI are M"7n (even though there is the possibility that the first road was
Tw)?'

¥ We assume that the first road was xnv and therefore the first M v (which exist no more) became ¥nv, and the
second road (and therefore the second n177v) is M17v. See ‘Thinking it over’.
 We are now discussing both sets of M7 where one of them is certainly X»u (for one of the roads was certainly
Xnv), therefore they are both poon &nw (since we do not know which road is Xnv).
' We do not burn them immediately; we wait until they spoil first and then burn them.
' Therefore after he went on both roads he is certainly xnav.
2 Perhaps the first road was X0 so the first mn7v are poon Xnb.
13 At this point he is certainly X (see footnote # 11), therefore the second mAiv are Xnw °XT and need to be burnt.
" This s mwn (and its corollary w">y ,'7 7awn) is discussing the nav specifically (for there is a difference whether
the first n177v still exist), not the person directly, therefore the following "7 71wn also chooses to discuss the n7v
instead of the person.
1% See footnote # 8.
1 See mmow naxo and (15,13 M) *"XoN there in NNAY MPIWA.
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